¥ERLINZ / Components

No. FF / Part name = / Pcs #ME / Material £ - XELE / Color-Finish
1 IR 2 7 JLEHR A1050P MGYILN - R B - R
Panel Aluminium A1050P Metallic silver+Painted ( Unfinished inside )
2 E—k 2 HH8— 1 7L A6063S-T5 MG - RE RS- EERLE
Heat-sink top cover Extruded aluminium A6063S-T5 Metallic silverPainted ( Unfinished inside )
3 THh— 1 TILSHRHAT A6063S-T5 AN - RE B -EE ENIE
Bottom frame Extruded aluminium A6063S-T5 Metallic silver-Painted ( Unfinished inside )
4 2500735 vk 2 TILEHH A A6063S-T5 AUyIvn - RERE-EEENE
Flange bracket Extruded aluminium A6063S-T5 Metallic silver*Painted ( Unfinished inside )
5 D—ILRH Rk 2 EE M- TPE ARy HTL—
Fabric—over-foam gasket Conductive fabric* TPE Metallic gray
6 R E RGRA 7T M4 X 10) 8 ATULR LI
Screw ( Hexagonal M4-10 ) Stainless steel Unfinished
TS5 CEFTE R / Flange screw 4 £ / Steel ={lE- 0 A—F / Black trivalent chromate
252U+ v / Flange nut 4 £% / Steel =258 A—F / Black trivalent chromate
#£3iAT L2 / Rubber feet 4 2 1)ar 3 L / Silicone 735v% / Black

XIALRBRTEFEATEYEEA,

Rubber feet dimensions are not included.

AHESIMMIH I 2HREOEFEGHRRSHINFBH T EC)FEUEI . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

4 /Title
BARHINTFERIE 770V BAFE-MUIT N - REMCY—IbE 547 (} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. F| ANGED HEAT-SINK ALUMINIUM EMC SHIELD ENCLOSUR
753/ Approved #&[X/Checked [ /Created E1%/Product number S
EXHFE19-11-13SS L2
FiR XL 57N 1/ 6
YER B /Date 2022/12/30




225

220

(0] (0)
@ ATTIIIIUIIII00III000III00Iin €/
B-B(1:3) 186.5 4-MAFMN
< 4-M4Countersunk w6
(0]
A A
ei: ®
D B
) @ \L00000000000000AN0OAN0AADGNY @)
C-C(1:3) D-D(1:3)
__1.7T 2
I 145
C H

d %Cg-—@ﬂ 2

173
A-A(1:3)
s 149
205
E(2:3) E 132
detail E \
EATLRE M3AF vk
Rubber feet M3 nut
14.5 ~ 2 | L qu -
HE&==
— o 157.5
175 215 7 2l R LAYE M3 X6 162 % /Title AN —
B Screw M3-6 TAKACHI| HASHINTFERIR 7509 RAFE—FUIT LT~ REMCY—IN 847 O L
170
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. F| ANGED HEAT-SINK ALUMINIUM EMC SHIELD ENCLOSUR =
1805 AR/ Approved & /Checked #1[X]/Created B F /Product number RE/Scale
o5 EXHFE19-11-13SS 3
iR KiL FiE:N 2 /6
YERL B /Date 2022/08/05




E—ki2% / Heat—sink top cover

o
N
, 185
, 173
SJ\.QI ] IQ(U .
.P [N
4-M4
) T}
o N
8.6 140.4 8.6
149
177.5

17.5

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

& &8/ Approved

iR

#&[X/Checked

XL

#[X/Created

il A

4 /Title
E—h L oh— o=
Heat-sink top cover

B4 /Product number RE/Scale
W185-H120 1:2

fERK B /Date 2022/08/05 3/°6




T#H7/\— / Bottom frame

4-M4

177.5

170

180.5

86.5

@
90

142

2.5

157.5

162

173

185

120

BRSUINFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
THhiN—

Bottom frame

S
O

AR/ Approved

iR

#&[X/Checked

XL

#[X/Created

] A

& /Product number

W185-H105-D120

RE/Scale
1:2

{ERL B /Date 2022/08/05




O
N2 )L / Panel
D-D(1:2)
2.5 186.5
C-C(1:2)
= C
I <
[ee]
[e0]
£
el
LD' x
S ©
2 s
~N
D o
R
& 7z ) ‘NE
&:/ \ .Jl |
= 4.25
B%~Fi% / Max dim. 170
4-M4FH MY
4-M4 Countersunk
, 173 .
T>) B INRIL A
= o O\ Panel 1
™D
D

F-F(1:2)
E-E(1:2)
= [
7\ )
© © =
=— E
INRIL 2
/O ()\ Panel 2
O J &
ma/Title A —1
TAKACHI| #%Xa#shFEMTE ISRIL O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. PANEL
& &8/ Approved 1% X]/Checked #[X/Created FF /Product number RE/Scale
W186.5 — H106.5 1:2
iR fiE] A< A )
1ERk B /Date 2023/02/02 5 6




119.5

11.75 7,
| |
[ee) [e0]
— o
10
™»
[e0]
10
<t
< ) o\
[o0)
6-C2 16 2-23.2
46
292 168
‘ N
8 S I e | SR
0 ,‘14‘ 0
N —

10

B

(=2}

14.5

20
175}

A

[s2]

@S ° o=
q ) (g
M3+ vk .
M3 nut ERAILE
Rubber feet
1)
'——\i@
R L~NYE M3 X 6
Screw M3-6
——"—
4 /Title f\ |/|
TAKACHI| #XE#HshTFERT % 95,5 T Sy O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Flange bracket
& &8/ Approved & /Checked #1[X]/Created B F /Product number RI&/Scale
EXHFE19-O-13 1:2
hif KT GES 5 o
{ER{ B /Date 2022/08/05




	シートとビュー
	EXHFE19-11-13-モデル
	2
	3
	4
	5
	6


